Honors Math 2 Name Hm

Review April 12 Period " Date
1 What is the vertex of the graph of y = l(x -2)"+6?
' b Y 4 ) \/ - (Ql {@3
A (0,7) (2,6) C.  (-2,-6) D. (47) E. (-2,6)
lelle
2. What is a correct factorization of x> +6x—16? ft i
(x+8)(x—2) B, (x+4)(x—4)
C. (x-8)(x—-2) D. (x—4)(x—4)
E. (x—8)(x+2)
ﬁxl"?)":':‘i’ x?':g
o -
3, What are the solutions of 2x* —3=13? wxt= il X=2 \Fg

A £2 242 ¢ 242 D. 2 E. -2

4, What is the simplified form of the expression /1 6l2 ?
gl

A W8 B 354 o o8B b A5 E) 92

(-5-2i)3+7)
N5 -351-6) - \4 *

9 \ 3
A —15-14i _1—41; Y < n F 4

5. What does the product (=5 — 2i)(3 + 7i) equal?

£ —-29—-41i D. —1+41 .
) -1 =41,
E.  —29+4li
use gqraphing cal culatny
6. What is the factorization of f(x)=2x" —x* —5x—27¢ X-2 5 afachy
@ (x—2)(2x +1)(x+1) B, (x—2)2x-D(x+1) 2k2 -\ -5 -2
C. (x=2)2x+D)(x-1) D. (x=2)2x-1)(x-1) V4 b 2
2 3 \ O

E. +2)2x+1)(x—1
(x )( X )(x ) 2)(14\,?}){*.\

Cx2)(zx 0%+



10.

11,

Use 9raphing caleutats?
What are all the rational zeros of f(x)=x’+3x’ —13x—157 %+ %-3 15 o factor

4 Bpiled B. 315 DR
@ -5,-1,3 D. 51,3 Y 3 \S
E. -1,3,5 "“'le L 5 D
XErle 15
Whatarealltherealzerosoff(x) x'+2x7 +xP - 47 xe-6 -\ ¥z5
- \
A -2,-1 -2,1
C. -1,2 D. 1,2
E. + 1,42

How many zeros does the function f(x)=-3x" +2x" + 7x —5 have?

A 1 B. 2 C. 3 4 E. 5

Which quadratic function in vertex form has a graph with the vertex (-3,—6) and passes
through the point (2,—-31)? .
L:j —a (x -+ K

A. y=—(x+3)"+6 B. y=(x+3)-6
Lj a (X7 Nj - (o
@ y = _(x +3)2 S 6 D. y = —(x_3)2 e 6 ":p\.,L_\CJ < -%\ 3\“‘#." \ ol ,n\l&"
E. y=(x+3)"+6 TS A - S

n g o
-31= A (z+2)" -0

D h BT FOO0-
What is the simplified expression of (3)}_ 7 ) ? o= -\
2x° 3y° 9y° 9y* 9x°
A 3 8 ) 2 6 C 5 D 6 Q 8
v % 4x 4x 4y
2
- B -2
ol Y- 297 - o
“\2 X—B L,' X - o FEIHE



12.  Whatis the value of f(x)=—8x"+6x' —5x" +10x" +9x —1 when x =—1?
A 11 B. -9 & 7 D. -1 @ 19
“EENH D s C 1T 0GR a-) et MR b cs 10 9 -
R P M b e T 8
13.  What is the result of dividing 3x° + 7x> + 5by x+1? "¢ I3 —1a 29 -0 \ 19 !
Ve E"uifi,‘l:-'=ii‘i'
o) 15 5 1
A. 3x"+10x+10+— B. 3x +4x+4+—
skt x+1 JX tUy =4
15 5 0 \ﬁx\"f?x 10X 15
& 3x7 —10x+10-—— D. 3x" —4x—-4+—
i x+1 ST
2 9 o ‘{x 4 E“‘fi
@ 3x +4x—~4+——~x+1 __L 3 9 o 5 LHL *‘f)(
) -2 1 Uy 45
> 4 % 9 FaxAY
14.  Which cubic function is graphed? 2 x> Yy -4 +%—t“ 9
1 L p < {"\\)
T ED D2 x=4). |
3 A /f pab funchi
ESTURSISISEy, 3 SR GRS 1 R 1 \t;{L{\-\fl‘: coe A
—B: T = —5 X+ Dx+2)(x+4) / g ,}\ gL
1 ) )% \ e~ X:
. G Fx)= g(x +D(x+2)(x—4) v+ 2DE II p\ / ~a /.- '*f,\l
D fE) =32 (x+4) 4’ \{rz 8
1 Y
SR @)=+ 2 ’
15.  Whatis the value of — 642 w4 = -4
A 4 @ —4 g = b -1 £ o+l
4 4 4




~

{ ¢ ap n on ColduiaoTyy

b Check
« X

16.  Which of the following is an exponential decay function? =l (b

K" :j el :;‘u,)"v_l" ".T:.I |

2 3 3 \‘K Ly x i
A. f(x) =4 3‘ 4 ( i{j ff}f‘u‘:-::a.i‘ “1B. f(x) =3 grow

e s0=12) 15V N sw=29 2 (Y

17.  What is the simplified form of 5¢™* o (-2¢°)"? 5 fa_’g o 4 e(’ = 20e
A —10e™ B —20¢ (;) 20 . 20
48
e
50 ~ Ne= 5¢
18.  Whatis f(—3) where f(x)= ? = fon= bnf_mgm =
1 7€7X L - (- 3}
l+7e
A. 0.3342 B. 0.3487
o ,““__Q;i@ D. 03672
E. 0.3915
P L 3 ) q_\ ) ﬁ,{f
" - + ’\ 4 X Xfr? fﬁ :)
Cothey VB (% AT +Y ( ¥ X

2 _ 2
19.  What is the product x2 1x—44 o X t17x+72
X +6x..-*-—16 x* 72x 99
¢ K}/{YXF?,} C %Al ka‘“s)

x+9 x=2 x+4 x—11
& B. D.
x-2 x+4 @ X2 x+9
st

oo & s

-3x-10
20. Whatis the product ; T x//l/
BT e 6x + 5

(¥~ 5Y -1 C}A53b<2)

A x—2 l 64 x+2 D.‘ ! E.
S x—=2

x+2

d éc ;’]fi
-t

®

B0
\47e°

x+8

=
I
bo



2(-b)= )(()(f""f)

{x 7“*( B e x g
21. What are all the solutions of the eéflatlon Xi (Q)XM ) -7 = x +7%
x ~
O=XT+TIx¥12
A 3,4 B. -3,4 C. -4 D. -3 (E. 43>
O - = -
(?’\TLt,{\gﬁ,;
Fottor 4 then LCD , LoD (xR (x-3) =-Y4,-3
x+4 = '
22.  What s the difference — g
x +6x+9 x -9 .
Cx +2)* €%+ ¥-3)

x —x=15
(x+3)*(x-3)

<E;“} x?—15
e (x+3)'(x-3)
x*+15

(x+3)(x-3)

6
What is the solution of the equation — + —

23,
X
J/’
{ fD 15 B -2 C.
i
24.  Whatis the value of 25 %4

?lxﬂ-l\)er ”l(w ’)
(X,-JI }J (‘?4'“"'2\)

x*+x-15
(x+3)(x-3)

x—15
(x=3)*(x+3)

"“\,‘l- e :{x

_ LepD s 23X
s 306L) -20) = ~4(3)
u 12 -2% = -2
-15 D. 3 E. 6
TE4X = -3
A=)g
125 D L.
125 125
R B
57 |25



